Consolidation work 23 Second Level ***

1.  17.06 + 23.4 + 14.05

2.  45 x 40

3.  87/1000

4.  60% of 340

5.  4/8 of £20.16

6.  Write 0.71 as a fraction and percentage. 

7. 4.506Kg = ____ g?

8.  There are 5 hens for every 3 turkeys. There are 12 turkeys. How many hens are there?

9.  Simplify 270/360 

10.  £34.67 + £46.94

11.  Round 234.5067 to the nearest ten. 

12.  -5 +13

13.  6n – 7 = 11

14.  Write the missing angles to complete this turn: 84 degrees, 81 degrees, 

102 degrees and ??? 

15.  What is the square root of 9?

16.  What are the factors of 42? 

17.  What is the area of a right angle triangle with: l = 4.2cm and b = 7cm

18.  Write in numbers: nine million and eight.

19.  7006 – 6987

20.  It costs £87.09 for 3 jumpers. How much for 1?
